

Argument shift in Ugl<sub>n</sub>

$$(M, \pi) \quad f, g \in C^\infty(M)$$
$$\langle f, g \rangle = \pi(df, dg)$$
$$[\pi, \pi] = 0$$

$$\mathcal{L}(C^\infty(M), \langle \cdot, \cdot \rangle) = \{ f \in C^\infty(M) \mid \langle f, g \rangle = 0 \}$$

$$M = \sigma^*, \quad \pi = \sum_k C_{ij}^k \partial_i \otimes \partial_j$$

$$\mathcal{L}(C^\infty(\sigma)) = \{ f \in C^\infty(\sigma^*) \mid f(g^{-1}xg) = f(x) \}$$

$x \in \sigma^*, g \in G$

$$\mathbb{Z}(C^\infty(g^*)) = C^\infty(g^*)G$$

Assume  $\mathbb{Z}$  is a field

$$\mathbb{Z}_{\mathbb{Z}}(\mathbb{Z}_{\mathbb{Z}}\pi) = 0 \quad (\star)$$

Theorem:  $\forall f, g \in \mathbb{Z}(C^\infty(M))$

$\forall p, q \geq 0$

$$\mathbb{Z}^p(f), \mathbb{Z}^q(g) = 0$$

Example:  $M = g^*$ ,  $\mathbb{Z} = \mathbb{Z}$

M.F.  $\mathbb{Z}$ -generic,  $\nrightarrow$  maximal

Vinberg:

$$\mathfrak{g} \curvearrowright C(\mathfrak{g}^*) \cong S(\mathfrak{g})$$
$$\mathfrak{g} \curvearrowright U\mathfrak{g}$$

PBW thm:  $U\mathfrak{g} \cong S\mathfrak{g}$

$G$  acts on  $U\mathfrak{g}$  &  $S\mathfrak{g}$

$$\mathbb{Z}(U\mathfrak{g}) \cong \mathbb{Z}_\pi(S\mathfrak{g})$$

$$U\mathfrak{g} \rightarrow \hat{A}_3 \xrightarrow{\text{PBW}} A_3^{\hat{E}}$$

1994

Nazarov - Olshanski

Quantum M-F  
algebras

2004

Rybnikov

2001

Tarasov

$g = gld$   
generator of certaintype  
of the  $\mathbb{Z}_\pi(SgCd)$ ,

$$\sigma(\mathbb{Z}^P(e_i)) \subset U_{gld}$$

2010-2014

A. Molev Yakimova

$\exists$  - missing

$$g = \text{cgl}d$$

$$\exists: U_{\text{cgl}d} \rightarrow U_{\text{gl}d}$$

$$[\exists^A(f), \exists^A(g)] = 0$$

$$\forall f, g \in \mathcal{Z}(U_{\text{cgl}d})$$

# Quasiderivations of Ugl<sub>d</sub>

2010 G.P.S.

(1) Coordinates  $e_{ij} \in \text{Ugl}_d$

$$\hat{\partial}_{pq} e_{ij} = \delta_{pj} \delta_{qi}$$

$$\hat{\partial}_{pq} (fg) = \hat{\partial}_{pq} f \cdot g + f \hat{\partial}_{pq} g + \sum_{k=1}^d \hat{\partial}_{kq} f \hat{\partial}_{pk} g$$

(2)  $\hat{D}: \text{Ugl}_d \rightarrow \text{Mat}_d(\text{Ugl}_d)$   
 $\hat{D} = (\hat{\partial}_{pq})$

$$\text{Soyld} \xrightarrow{\sigma = \text{PBW}} \text{Uoyld} \xrightarrow{1 + \hat{D}} \text{Mat}_d(\text{Uoyld})$$

$$\tilde{\mathbb{Z}} = \mathbb{Z}[\frac{1}{\hbar} D]$$

$$\exp(D)$$

$$\downarrow \text{PBW}^{-1}$$

$$\text{Mat}_d(\text{Soyld})$$

$$\mathbb{Z}: \mathbb{C}(\text{oyld}) \rightarrow \mathbb{C}(\text{oyld}^{\#}) \quad D = (D_{pq})$$

Theorem:  $c_i \in \mathbb{Z}_{\hbar}(\text{Soyld})$

$$\sigma(c_i) \in \mathbb{Z}(\text{Uoyld})$$

$$\begin{aligned} \tilde{\mathbb{Z}}(\sigma(c_i)) &= \\ &= \text{lin comb.} \\ &\text{of } \sigma(\tilde{\mathbb{Z}}(c_i)) \end{aligned}$$

$$\tilde{\mathbb{Z}} = \mathbb{Z}[\frac{1}{\hbar} \hat{D}]: \text{Uoyld} \rightarrow \text{Uoyld}$$

$$[\tilde{\mathbb{Z}}^p(\sigma(c_i)), \tilde{\mathbb{Z}}^q(\sigma(c_j))] = 0$$